+4 AABC A sinA — cos A 9]




1
2. tanA=1¢% I, (1+sinA)(1-cosA) + 3 O] F27(H, 0° <A<

90°)

@ 1 ®vi @+vi @3V

@ 9

DN | =



s

[}

:I]_



4.

o 28e A4 x- V3y+3=0

of e zoltt. olmf, 46 o A7|E

ot

@ 30°

@ 40°

B 45°

@ 50°

® 60°



ol

il

=AD

® cos A

AD
AE

A8
AC

)
®

=AB

@ sinA

BC _DE
AC  AE

=DE

@ tan A



@ cos 80° © cos 0° © tan 0°

® cos 27° © sin 15°

© 0606060 2 0.6,6,0,.0
® 9,6.0,0,e ® ©06,0,e,0
® O, 6,0, 0,




7. 0°<x<90° 4™, \/(cosx+1)2+ /(cosx—1)2 O] Ff-27?

@ cosx @ 2cosx @ 2
@ 1 B 0



8. T IHA AH 9 dolE FotH?

A
B
® V2cm @ Y3cm ® 2v3cm



Euk2 A QI U7t WS dhof ohx Tyt o] HZto g A
Ak, o] YR7t 2 2]7] M 9] 2ol & thg AZtd] o] & o] 83}
“FobH?

el = sin cos tan

40 0.6428 | 0.7660 | 0.8391

50 0.7660 | 0.6428 | 1.1918
D 6.428m @ 7.660m ® 8.391m
@ 11.918m 3 14.088m



10. ©h& 189] AABC o4 AC 9] Aol=?

D V7 @ 6v2 O 3VT @ 72 B 447



s 5
® ©

D 5v2
@ 842



12, o 293 22 AABC of|A =] h & F5HH?

e

- H 20—~

©® 10(v2-1) @ 10(V3-1) ® 10(V3-V2)
@ 10(2v2-1) ® 10(v2-2)



13, oh 293} 2o Fol dem A Fo] H|

ojZE A& AC olH Hoth. AC= -
8cm & o], AABC 9] Ho]& F-5HH? \
GIERCE @ P ens

) 2
o BV

3



14.

the 13 22 A}zFY ABCD 9] o]
£ otd?

D 12v3 @ 11V3 ® 10V3 @ 943

® 843



15. thg 133 2ol Bx5] Zol7}10em ¢ Aol U shs 4
Holg Fafelet

® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?

OEL

I



